Svenska Bridgeférbundet
Simultantavling Dagtid 2015-10-28

Partavling, 56 bord, 108 par. Antal brickor: 24. Medel: 1223.7. Frirond (*) ger egen procent.

Plac Par Poang
1 F2 1685.4
2 B10 1659.5
3 C9 1575.0
4 A8  1557.9
5 A9  1556.8
6 G18 1546.0
7 G20 1520.5
8 C5 1519.0
9 D108 1518.1

10 G16 1500.3
11  G14 1488.0
12 F13 14724
13 B17 1464.1
14 B4  1461.0
15 C7 14540
16 D116 14433
17 C19 14410
18 C6  1439.7
19 E3  1438.7
20 D113 1427.4
21 A3 14213
22 F7  1417.0
23 C13 1416.9
24 C20 14154
25 G117 14149
26 G5 1414.2
27 G113 1393.0
28 E1  1387.1
29 D107 1385.7
30 F14 1377.1
31 F4  1368.6
32 A10 1364.7
33 C2 13515
34 E5 1351.3
35 Al12 1343.1
36 B5 1339.0
37 B6 1325.9
38 A2  1316.8
39 Gl11 1304.7
40 D115 1302.4
41 B8 1301.3
42 G6 1291.3
43 D117 1287.6
44 D110 1270.3
45 F9  1269.6
45 F11 1269.6
47 Bl4 1267.1
48 D114 1264.7
49 Gl 1248.0
50 D112 12394
51 B15 1239.0
52 F10 12311
53 C15 1225.0
54 E6 12228
55 Cl10 1216.0
56 Cl1l2 1214.0
57 A4 12131
58 D111 1201.6
59 G4  1197.9
60 B1  1179.0
61 E4 11785
62 D105 1172.7
63 B3 11727
64 Cl4 11713
65 F6  1166.9
66 B9 11525
67 C8 1147.0
68 G8 1146.6
69 C4 11427
70 D103 1134.4
71 B7 11289
72 B13 1128.0
73 Cl1 1113.0
74 A1l 1100.9
75 D109 1098.2
76 D118 1096.7
77 B16 1096.0
78 Bl11 1095.0
79 B18 1092.5
80 G12 1085.5
81 C18 1085.0
82 C3 1062.6
83 A5  1055.0
84 G10 1054.9
85 E2 1044.1

%

68.85
67.79
64.34
63.64
63.59
63.15
62.11
62.05
62.01
61.29
60.78
60.15
59.81
59.68
59.39
58.96
58.86
58.81
58.77
58.31
58.06
57.88
57.88
57.82
57.80
57.77
56.91
56.66
56.61
56.25
55.91
55.75
55.21
55.20
54.86
54.70
54.16
53.79
53.30
53.20
53.16
52.75
52.60
51.89
51.86
51.86
51.76
51.66
50.98
50.63
50.61
50.29
50.04
49.95
49.67
49.59
49.55
49.08
48.93
48.16
48.14
47.91
47.90
47.85
47.67
47.08
46.86
46.84
46.68
46.34
46.12
46.08
45.46
44.97
44.86
44.80
44.77
44.73
44.63
44.34
44.32
43.41
43.09
43.09
42.65

Namn
Sven Gunnar Nordh - Jonny Stark

Ann-Charlott Kéck Karlsson - Kennet Géransson

Lennart Karlsson - Leif Lyngmo

Bo Mattsson - Bertil Nilsson

Lillemor Alyhr - Marianne Cederholm
Erik Nordenberg - May-Lis Lindblom
Jorgen Hirschfeldt - Klas Nilsson

Gun Karlsson - Waldo Whiteman

Olle Karlsson - Sture Lennartsson
Jan-Erik Nerlund - Mats Hallerstedt
Lennart Asplund - Gésta Haglund

Berit Johnsson - Horst Raudszus
Gunnar Postrup - Géran Jonzon
Sven-Erik Arvidsson - Carl-Peter Nystrom
Lennart Palm - Nils Sérensson

Tony Lindblom - Charlotta Jénsson
Jan-Ake Gustavsson - Arne Gustavsson
Bertil Andersson - Margareta Hedin
Ingegérd Nordenberg - Kent Nordenberg
Carl Ragnarsson - Maria Klingspor
Anita Ottosson - Hans Goéran Lindgren
Jan Peper - Lilly lvarsson

Lennart Emanuelsson - Roland Myrvold
Per Parborg - Bengt Andersson

Ralf Bystrom - Carl-Erik Andersson
Tomas Misch - Géthe Binning

Hans Ullstrédm - Lars Markusson

Hans Cederlid - Annika Cederlid
Ragnar Jansson - Maud Danielsson
Arne Carlsson - William Martinsson
Claes-Goran Stadler - Tommy Axelsson
Inger Ostenson-Traff - Hans Karlsson
Lars Persson - Bosse Johansson

Ulla Petersson - Solveig Svensson
Svante Hallén - Christer Hedborg

Leif Davidsson - Bo Walfridsson
Gunilla lvarsson - Anders Wikby

UIf Aronson - Goran Jonsson

Lars Risel - Sten Arling

Sture Mattsson - Lennart Linnerstedt
Johnny Kronquist - Sten-Ake Eskilsson
Lillevi Gustavsson - Bodil Andersson
Christer Tillberg - Bo Ekelund

Orjan Randhede - Malgorzata Wesolowska
Britt Louise Persson - Marianne Littau
Stig Ohlin - Maj-Britt Ohlin

Hans-Olof Kjellgvist - Marianne Malmberg
Ove Nyhlén - Ragnar Ljungkvist

Lars Osterberg - Sune Enqvist

Eva Liljestrom - Birgitta Melander

Hans Lind - Leif Rydell

Knud Littau - Ake Persson

Per Kindgren - Gunilla Hennings
Jorgen Persson - Lars-Eric Thedeby
Gunvor Sandelius - Anna-Lisa Rydfalk
Ake Karlsson - Allan Steen

Christina Herlowsson - Inger Wendt-Olsson
Angela Sokjer - Hannibal Sokjer

Tore Claesson - Kjell Olson
Marie-Anne Tellt - Birgitta Strid

Ulla Skéarberg - Jan Skarberg

Bjorn Pedersen - Arne Melin

Evert Eriksson - Lennart Granstedt
Harriet Rosell - Eskil Stegd

Gerd Henningsson - Lennart Karlsson
Anita Bergquist - Per-Eric Bergquist
Bjorn Walldén - Eva Bjoréus

Leif Bergsten - Gunnar Bergstrom
Jimmy Danielsson - Roland Lundberg
Ingmarie Leinskold - Stina Andersson
Rune Elofsson - Roland Fingalsson
Ewa Adiels - Lars-Erik Anderbjork
Margareta Aberg - Marianne Angbratt
Margreth Gustavsson - Elsie Blomgvist
Roland Nilsson - Folke Nettelblad

Maj Danielsson - Sivert Danielsson
Ingela Strandborg Alm - Ingegérd Bovin
Kirsten Wretblad - Mary Magnusson
Anita Jonzon - Anita Stenlév

Jocelyn Cameron - Ulrike Siwersson
A-C Nathanson - Kerstin Johansson
Birgitta Nilsson - Anita Folkeson
Christine Gustafsson - Bo Gustafsson
Thomas Kranglin - Lennart Abrahamsson
Jorgen Berg - Britta Borg

MID

43021
88857
1196
7375
34683
12256
3590
1201
33615
10454
10697
15883
55213
53242
83980
21037
11951
11916
11872
2498
90760
88216
1318
55697
7156
3347
3582
15225
1559
26296
25855
89395
84155
81499
80464
6948
8926
2515
3552
1503
14965
3576
1309
6043
38998
43024
83374
7940
9760
27633
81084
52959
14963
31291
80597
1176
80682
27407
3491
45852
15888
14134
44606
51025
43033
44898
28612
3537
50202
32383
37718
87543
32379
55996
13741
37932
53641
92669
81910
55821
48694
81972
93996
25533
43886

461
9304
85153
9916
2531
3494
12950
2111
11845
11306
3488
4652
9307
44895
18644
86566
14962
91376
9631
1445
48661
29542
79001
9212
3501
28088
3502
80697
31298
16069
57292
3323
20119
91544
11610
9318
45283
49887
14086
1317
40412
12826
1442
86023
52958
43037
30109
49576
10523
29210
14676
38999
6841
28669
18735
1319
17601
27408
3503
45851
85796
85944
44607
91133
53169
44897
86019
11302
40418
32780
35342
49000
87638
55992
10684
37933
54068
41848
55965
52755
55133
91432
93997
27064
621

Klubb

Osby BK

Eksjo BK

Filbyter Bridge - Vadstena Bridgeklubb
Kinnareds BK - BK Allians, Halmstad
BK Allians, Halmstad
Solstabridgen
Solstabridgen

Filbyter Bridge

Filbyter Bridge
Solstabridgen - Karlstads BK
Karlstads BK - Hammard BK
Hastveda BK

Eksjo BK

Ydre BK

Filbyter Bridge

Kisa BS - Skanninge BK
Filbyter Bridge

Filbyter Bridge

Laholms BK

Filbyter Bridge

BK Allians, Halmstad
Osby BK

Filbyter Bridge

Filbyter Bridge

Hammaro BK

Karlstads BK - Orebridgen
Solstabridgen

Laholms BK

Filbyter Bridge

Oshy BK

Osby BK

BK Allians, Halmstad
Mjolby BK - Boxholms BS
Laholms BK

BK Allians, Halmstad
Sévsjo BK - Eksjo BK
Séavsjo BK

BK Allians, Halmstad
Solstabridgen

Ljunqsbro BK - Filbyter Bridge
Tranas BK - Eksjo BK

BK Skogsstjarnan - Solstabridgen
Filbyter Bridge

Filbyter Bridge

Oshy BK

Osby BK

Eksjo BK

Filbyter Bridge
Solstabridgen

Filbyter Bridge - Ska&nninge BK
Eksjo BK

Osby BK

Filbyter Bridge

Laholms BK

Filbyter Bridge

Filbyter Bridge

BK Allians, Halmstad
Filbyter Bridge

Hammar6 BK

Eksjo BK

Laholms BK

Atvidabergs BS - IFK Norrkdping
Eksjo BK

Filbyter Bridge

Oshy BK

Ydre BK

Filbyter Bridge
Solstabridgen

Filbyter Bridge

Filbyter Bridge

Eksjo BK

Eksjo BK

Filbyter Bridge

BK Allians, Halmstad
Filbyter Bridge

Filbyter Bridge

Eksjo BK

Eksjo BK

Eksjo BK

Solstabridgen

Filbyter Bridge

Filbyter Bridge

BK Allians, Halmstad

BK Tre Sang, Karlstad
Forslovs BK - Laholms BK
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86 Al 10429 42.60 Karl-Erik Karlsson - Kerstin Eriksson 7402 82272 BK Allians, Halmstad
87 F3  1039.9 42.48 Curt Weberyd - Eivar Carlsson 88224 45035 Osby BK
88 D104 1028.0 41.99 Ann-Katrine Ryn - Iréne Palm 15367 90943 Filbyter Bridge
89 A6  1015.6 41.49 Ulla Marke - Elsie Ahlberg 94215 93716 BK Allians, Halmstad
90 F12 1007.1 41.14 Kerstin Tufvesson-Axelsson - Gunnel Jonsson 43041 43550 Oshy BK
91 D106 1004.4 41.03 Bo Kvick - Rolf Eliasson 83364 45893 Filbyter Bridge
92 A13 999.8 40.84 Eva Johnsson - Jarl Svedertun 93710 37196 BK Allians, Halmstad
93 B12 998.0 40.77 Britta Lindhe - Maj-Britt Oster 44652 44653 Eksjo BK
94 F1 997.4 40.74 Torsten Nilsson - Marianne Andersson 24804 45326 Hastveda BK - Osby BK
95 E8 991.9 40.52 René Torkelson - Birgitta Torkelson 92790 92789 Laholms BK
96 G2 991.7 40.51 Sonja Forsby - Gulli Sandberg 91665 91666 Solstabridgen
97 G9 982.9 40.15 Lilian Nilsson - Barbro Tjarnmon 9347 34792 Karlstads BK - Solstabridgen
98 A7 944.7 38.59 Bertil Anderson - Rolf Jonsson 92812 2524 BK Allians, Halmstad
99 F5 942.9 38.52 Leif Cato - Gun Manne 43551 43034 Osby BK
100 D102 942.2 38.49 Lisa Maback - Ulla Wahlquist 30510 36625 Filbyter Bridge
101 B2 932.5 38.09 Arne Gustavsson - Berit Vik Hansen 27285 47976 Trands BK - Ydre BK
102 G3 901.6 36.83 Turkka Bender - Else Gramel 42805 42804 Solstabridgen
103 F8 891.0 36.40 Annica Gustafsson - Marie Ekstrand 59536 59065 Osby BK
104 C11 889.1 36.32 Gun Hammarlund - Lennart Hammarlund 40104 86024 Filbyter Bridge
105 C16 860.3 35.14 Solveig Schon - Anita Cetrelli 37944 37945 Filbyter Bridge
106 G15 852.0 34.80 Berit Haggdahl - Inga Grumer 23293 31864 Solstabridgen
107 G7 817.8 33.41 Solveig Stolpen - Ulla Nilsson 5729 6982 BK Skogsstjarnan - Hammaro BK
108 C17 7415 30.29 Ann-Margret Bokmark - Solweig Jonsson 78984 32365 Filbyter Bridge
1 «ED9 Basta kontrakt 2 .- Basta kontrakt
Nord v KKn32 6NT N =990 Ost vE10954 5¢ S =600
Ingen ¢+ ED NS + EKn1083
#8732 & ¢ v & NT #K102 % ¢ v & NT
443 « K1082 N 12109 1112 4 KKn87532 494 N 7 118 5 8
vD98754 v106 S 12109 1112 v- vKD8732 S 8 118 6 9
¢ Kn72 498543 012421 +D4 +76 052574
#109 *Kn5 Viz2i421 #EKn54 «D73 V52574
4« Kn765 « ED106
vE v Kn6
+ K106 ¢ K952
#EKD64 #986
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
F2 F5 6NN +1 aT 1020 102.0 0.0 A2 A5 54DV -4 ¢ A 800 101.0 1.0
A2 A5 6NN = +6 990 80.0 22.0 B15 B2 44DV -4 +3 800 101.0 1.0
A4 A6 6NN = +9 990 80.0 22.0 F4 F6 44DV -3 *A 500 95.0 7.0
G4 G17 6NN = +5 990 80.0 22.0 C6 Cl4 44DV -3 vA 500 95.0 7.0
E5 E4 6NN= +9 990 80.0 22.0 F9 F10 34DV -3 +3 500 95.0 7.0
B6 B16 6NN = +3 990 80.0 22.0 Gl1 G3 34DV-3 *A 500 95.0 7.0
C6 Cl4 6NN= +9 990 80.0 22.0 F2 F5 34DV -2 vA 300 89.0 13.0
G6 G14 6NN = ¢4 990 80.0 22.0 E6 E2 44DV -2 vA 300 89.0 13.0
A9 A10 6NN = *4 990 80.0 22.0 G16 G8 2v 04 2 200 86.0 16.0
B10 B5 6NN = +9 990 80.0 22.0 B12 B11l 4¢ N+2 a4 170 84.0 18.0
G11 G3 B6NN= a2 990 80.0 22.0 C4 C17 4¢ N+1 49 150 68.0 34.0
A12 A7 6NN = +5 990 80.0 22.0 E5 E4 3¢ N+2 vK 150 68.0 34.0
C12 C15 6NN= +8 990 80.0 22.0 B6 B16 3¢ S +2 *] 150 68.0 34.0
B13 Bl 6NN= +8 990 80.0 22.0 C7 C9 44 V-3 vA 150 68.0 34.0
C13 Cl 6NN= +3 990 80.0 22.0 G7 G9 3¢ N+2 vK 150 68.0 34.0
F13 F1 6NN= a2 990 80.0 22.0 A9 Al10 44 V-3 ¢ A 150 68.0 34.0
G13 Gl 6NS= +5 990 80.0 22.0 Al13 Al 4¢ N+1 49 150 68.0 34.0
G16 G8 6N N= +9 990 80.0 22.0 F13 F1 3¢ N+2 49 150 68.0 34.0
C19 C2 6NN= +9 990 80.0 22.0 C16 C8 34 V-3 +3 150 68.0 34.0
D110 D105 6NN= +9 990 80.0 22.0 G18 G10 2v V-3 +8 150 68.0 34.0
D112 D111 6NN= +3 990 80.0 22.0 C19 C2 3¢ N+2 49 150 68.0 34.0
D114 D108 6NN= +4 990 80.0 22.0 D106 D116 3N O-3 9 150 68.0 34.0
G12 G15 6& S= v9 920 58.0 44.0 D110 D105 4¢ N +1 49 150 68.0 34.0
Cc4 C17 3N N+3 48 490 45.0 57.0 D115 D102 4¢ N +1 49 150 68.0 34.0
F4 F6 3NN +3 +3 490 45.0 57.0 D118 D104 34 V-3 ¢ A 150 68.0 34.0
B7 B3 3N S +3 v4 490 45.0 57.0 A3 All 3¢ N= vQ 110 52.0 50.0
G7 G9 3NN +3 +9 490 45.0 57.0 B7 B3 24 V-2 *A 100 44.0 58.0
F8 F14 3NN +3 +3 490 45.0 57.0 E8 E3 34 V-2 ¢ A 100 44.0 58.0
Cl11 C3 3NN+3 +5 490 45.0 57.0 Al2 A7 34DV-1 vA 100 44.0 58.0
A13 Al 3N S +3 v4 490 45.0 57.0 G12 G15 44 V-2 vA 100 44.0 58.0
B14 B8 5NN +1 vT 490 45.0 57.0 C20 C5 44 V-2 vA 100 44.0 58.0
B18 B4 3NS+3 v4 490 45.0 57.0 G20 G5 34 V-2 *2 100 44.0 58.0
G20 G5 3NN +3 48 490 45.0 57.0 D109 D117 34 V-2 *2 100 44.0 58.0
D109 D117 3NN +3 +9 490 45.0 57.0 A4 A6 34 V-1 vA 50 29.0 73.0
D115 D102 5NN +1 +3 490 45.0 57.0 G4 G17 34 V-1 ¢ A 50 29.0 73.0
F9 F10 3N S +2 v7 460 29.0 73.0 G6 Gl4 34 V-1 *2 50 29.0 73.0
C16 C8 3NN +2 a2 460 29.0 73.0 F8 F14 24 V-1 *T 50 29.0 73.0
Cc18 C10 3NN +2 +8 460 29.0 73.0 F12 F7 44 V-1 ¢ A 50 29.0 73.0
G18 G10 3NN +2 vT 460 29.0 73.0 G13 Gl 24 V-1 *2 50 29.0 73.0
A3 All 44 S+1 *7 450 22.0 80.0 C18 C10 34 V-1 vA 50 29.0 73.0
D107 D103 54 S= v7 450 22.0 80.0 D107 D103 24 V-1 vA 50 29.0 73.0
D118 D104 54 S = &T 450 22.0 80.0 B13 Bl 2v N-1 49 -100 20.0 82.0
B15 B2 3NN +1 a2 430 18.0 84.0 F3 F11 24 V= ¢ A -110 15.0 87.0
B9 B17 5# N +1 vT 420 15.0 87.0 Cl1 C3 24 V= vA -110 15.0 87.0
C20 C5 5# S +1 2 420 15.0 87.0 C12 C15 24 V= +J -110 15.0 87.0
F12 F7 5& S= v9 400 12.0 90.0 D114 D108 24 V= *2 -110 15.0 87.0
F3 F11 6N N-1 a2 -50 6.0 96.0 B9 B17 34 V= v4 -140 8.0 94.0
E6 E2 6NN-1 a2 -50 6.0 96.0 B10 B5 34 V= vA -140 8.0 94.0
Cc7 C9 6NN-1 +9 -50 6.0 96.0 D112 D111 34 V= vA -140 8.0 94.0
E8 E3 6N N-1 +9 -50 6.0 96.0 C13 Cl 66DN-1 a5 -200 3.0 99.0
D106 D116 4v N-1 vT -50 6.0 96.0 B14 B8 5¢ N-2 49 -200 3.0 99.0
B12 B11 6v N-3 *5 -150 0.0 1020 B18 B4 6¢RDN -2 a7 -1000 0.0 1020
- E1l 57.8 - E1l 57.8
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A8 - 64.9 A8 - 64.9
- G2 41.3 - G2 41.3
D113 - 59.5 D113 - 59.5
3 493 Basta kontrakt 4 « E97 Basta kontrakt
Syd v9 54 V =-650 Vast vKn3 4¢ N =130
oV ¢ KD97653 Alla ¢+ ED9742
#932 & ¢ v & NT &53 & ¢ v & NT
4 E85 4 D10642 N6 8223 4 Knl05 #4KD864 N 6 105 5 8
v10 v EKDKn54 S68223 vK9876 vD10 S 6 105 5 8
¢ Kn84 ¢+ E10 07 5 11119 465 + Knl10 073774
#DKn8754 &- V 6 5 11119 «D98 #EKNn104 V737174
&« KKn7 32
v 87632 v E542
2 + K83
#EK106 K762
Par Kontr ut Res Poang Par Kontr ut Res Poang
D113 D102 44D O -3 A 800 102.0 0.0 C9 C16 3v V-3 &5 300 102.0 0.0
B11 B6 64 V-4 v9 400 99.0 3.0 F3 F6 44 O-2 vA 200 96.0 6.0
C19 C3 34 0-4 A 400 99.0 3.0 E6 E2 24 O-2 + K 200 96.0 6.0
Gl G15 44 O-2 &K 200 94.0 8.0 Ci12 C4 34 O-2 ¢+ K 200 96.0 6.0
D111 D106 6v O-2 *A 200 94.0 8.0 G14 G7 34 O-2 +3 200 96.0 6.0
D118 D105 4v O -2 A 200 94.0 8.0 C19 C3 34 O-2 + K 200 96.0 6.0
B9 B14 4v O-1 2 100 87.0 15.0 Bl B12 3¢ N+1 *A 130 71.0 31.0
G9 G16 64 O-1 *A 100 87.0 15.0 F1 F8 3¢ N+1 vT 130 71.0 31.0
G13 G2 3NO-1 v3 100 87.0 15.0 Gl G15 4¢ N= & K 130 71.0 31.0
D115 D103 3v O-1 *A 100 87.0 15.0 F4 F12 3¢ N+1 v3 130 71.0 31.0
C9 Cl6 1v S-1 *Q -50 81.0 21.0 E5 E4 4¢ N= oK 130 71.0 31.0
D108 D104 3¢ N-1 vA -50 81.0 21.0 F5 F7 4¢ S= & K 130 71.0 31.0
B18 B5 4¢ N-2 vA -100 78.0 24.0 C6 C20 3¢ N+1 oK 130 71.0 31.0
A10 All 2v O = A -110 76.0 26.0 B8 B4 3¢ N+1 A 130 71.0 31.0
F1 F8 3v O= A -140 70.0 32.0 G8 G10 3¢ N+1 aK 130 71.0 31.0
A5 A7 3v O= 2 -140 70.0 32.0 B10 B17 3¢ N+1 vQ 130 71.0 31.0
E6 E2 2v O+1 2 -140 70.0 32.0 Cl1 C18 2¢ N+2 &4 130 71.0 31.0
B8 B4 3v O= *2 -140 70.0 32.0 Gl1 G18 3¢ N+1 +J 130 71.0 31.0
C12 C4 2v O+1 2 -140 70.0 32.0 G12 G4 3¢ N+1 oK 130 71.0 31.0
E5 E4 4¢ N-3 vA -150 63.0 39.0 C13 C2 3¢ N+1 & K 130 71.0 31.0
B15 B3 1v S-3 &4 -150 63.0 39.0 G13 G2 4¢ N= A 130 71.0 31.0
C6 C20 34 O+1 2 -170 51.0 51.0 B16 B7 4¢ N= A 130 71.0 31.0
C8 C10 2v O +2 2 -170 51.0 51.0 D110 D117 3¢ N+1 & K 130 71.0 31.0
G8 G10 34 O+1 2 -170 51.0 51.0 D113 D102 3¢ N+1 oK 130 71.0 31.0
Ci11 C18 3v O +1 *A -170 51.0 51.0 D115 D103 24 N +2 *A 130 71.0 31.0
G12 G4 3v O+1 2 -170 51.0 51.0 D116 D107 3¢ N+1 & K 130 71.0 31.0
C13 C2 24 O+2 *A -170 51.0 51.0 A5 A7 3¢ N= vQ 110 50.0 52.0
F13 F2 3v O+1 *A -170 51.0 51.0 A3 A6 34 O-1 ¢+ K 100 36.0 66.0
C14 C7 34 O+1 LY -170 51.0 51.0 C8 Cl10 24 O-1 *2 100 36.0 66.0
Gl4 G7 34 O+1 *A -170 51.0 51.0 E8 E3 34 O-1 + K 100 36.0 66.0
G17 G5 34 O+1 *A -170 51.0 51.0 B9 B14 34 V-1 vA 100 36.0 66.0
C1l Cl5 3¢ S-4 vA -200 37.0 65.0 F9 F14 34 O-1 +3 100 36.0 66.0
A3 A6 3v O +2 2 -200 37.0 65.0 A10 All 34 O-1 +3 100 36.0 66.0
F9 F14 2v O +3 2 -200 37.0 65.0 B11 B6 34 O-1 ¢+ K 100 36.0 66.0
F10 F11 3v O +2 2 -200 37.0 65.0 Al13 A2 34 O-1 +3 100 36.0 66.0
Al13 A2 3ND S -3 »7 -500 32.0 70.0 B13 B2 24 O-1 + K 100 36.0 66.0
B10 B17 3NO= &K -600 30.0 72.0 G17 G5 34 O-1 2 100 36.0 66.0
Al A8 4y O= 2 -620 19.0 83.0 D108 D104 34 O-1 *6 100 36.0 66.0
Bl B12 4v O= +Q -620 19.0 83.0 D109 D114 34 O-1 +3 100 36.0 66.0
A4 Al2 44 O= 2 -620 19.0 83.0 D111 D106 34 O-1 ¢+ K 100 36.0 66.0
G6 G20 44 O= 2 -620 19.0 83.0 F10 F11 5¢ N-1 oK -100 20.0 82.0
Gl1 G18 44 O= A -620 19.0 83.0 B15 B3 4¢ N-1 A -100 20.0 82.0
B13 B2 4v O= 2 -620 19.0 83.0 C17 C5 4¢ N-1 & K -100 20.0 82.0
B16 B7 4v O= 2 -620 19.0 83.0 C1l Cl5 24 O= 3 -110 12.0 90.0
C17 C5 4v O= 2 -620 19.0 83.0 F13 F2 24 O= »2 -110 12.0 90.0
D109 D114 44 O= A -620 19.0 83.0 Ci14 C7 24 O= +3 -110 12.0 90.0
D116 D107 44 O= *A -620 19.0 83.0 B18 B5 24 O= *4 -110 12.0 90.0
F4 F12 44 O +1 *A -650 7.0 95.0 D118 D105 24 O = vA -110 12.0 90.0
E8 E3 4v O +1 *K -650 7.0 95.0 Al A8 34 O= +3 -140 4.0 98.0
F5 F7 3vyDV= 2 -730 4.0 98.0 A4 Al2 24 O +1 v2 -140 4.0 98.0
F3 F6 4vDO = A -790 2.0 100.0 G9 G1l6 34 O= + K -140 4.0 98.0
D110 D117 5¢DN-4 vA -800 0.0 102.0 G6 G20 24 O +2 43 -170 0.0 102.0
- El 57.8 - El 57.8
A9 - 64.9 A9 - 64.9
- G3 37.6 - G3 37.6
- D112 51.6 - D112 51.6
5 492 Basta kontrakt 6 4« KKn9543 Basta kontrakt
Nord v75 34 O =-140 Ost vEK 4v O =-620
NS ¢ E8543 oV ¢ Kn32
#ED93 & ¢ v o NT #Kn9 % ¢ v & NT
» EK63 +D1084 N585 46 « D76 s E2 N45265
vKn10983 ¢D S57536 v 109432 v DKn7 S45265
¢DKn10  #K2 085897 + K876 ¢+ E10 O7 6 106 5
+10 #K86542 V85897 &E #D107432 vV 9 7 106 7
4 Kn75 108
v EK642 v 865
4976 ¢ D954
&Kn7 #K865
Par Kontr Res Poéang Kontr Ut Res Poang
F2 F9 3NV-3 +3 150 101.0 1. F10 44D O -3 oT 800 102.0 0.
C6 C17 44 V-3 *A 150 101.0 1. G5 4vDV -2 vA 500 100.0 2.
G20 G7 3¢ N= vQ 110 98.0 4. E3 44 0O-3 aT 300 96.0 6.
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C4 C19 2+ 0-2 vK 100 91.0 11.0 C10 Cl6 4% 0O-3 +Q 300 96.0 6.0
B6 B18 3NV -2 v7 100 91.0 11.0 C18 Cl12 3#0-3 48 300 96.0 6.0
E6 E5 3NV-2 +4 100 91.0 11.0 Ad A7 34 0-2 aT 200 86.0 16.0
F6 F8 2v V-2 49 100 91.0 11.0 B4 B15 4y V-2 a4 200 86.0 16.0
G14 G8 3NV-2 +4 100 91.0 11.0 F5 Fl1 4v V-2 *J) 200 86.0 16.0
C20 C7 3NV-2 +3 100 91.0 11.0 G9 G11 3NV-2 a5 200 86.0 16.0
El E3 3v V-1 49 50 76.0 26.0 C14 C8 34 0-2 48 200 86.0 16.0
C9 Cll 44 O-1 vA 50 76.0 26.0 G18 G12 3#0-2 aT 200 86.0 16.0
All Al2 44 O-1 »7 50 76.0 26.0| D114 D110 3« 0-2 aT 200 86.0 16.0
F11 F12 34 V-1 *A 50 76.0 26.0 F2 F9 24 N= v7 110 76.0 26.0
F14 F10 44 O-1 a7 50 76.0 26.0 Cé Cl7 14 N+1 ¢A 110 76.0 26.0
G15 G2 44 O-1 vA 50 76.0 26.0 C9 Cll 24 N= *A 110 76.0 26.0
C18 Cl2 3#0-1 vA 50 76.0 26.0 C1 C5 24 0-1 aT 100 65.0 37.0
G18 G12 34 V-1 v7 50 76.0 26.0 B6 B18 4v V-1 42 100 65.0 37.0
D113 D103 44 V-1 49 50 76.0 26.0 G6 G17 3v V-1 vA 100 65.0 37.0
B13 B3 24 O= vA -90 66.0 36.0 B9 B5 4v V-1 *9 100 65.0 37.0
F13 F3 2¢ N-1 vQ -100 64.0 38.0 F13 F3 4v V-1 45 100 65.0 37.0
C10 Cl6 24 O= +9 -110 59.0 43.0 G14 G8 3#0-1 aT 100 65.0 37.0
G10 G16 2v V= 49 -110 59.0 43.0 B16 B8 3v V-1 N 100 65.0 37.0
B17 Bll 24 V= v7 -110 59.0 43.0 G20 G7 3v V-1 vA 100 65.0 37.0
D104 D115 24 O= *J) -110 59.0 43.0 B2 Bl 1a N-1 *Q -50 49.0 53.0
D112 D107 2NV = *4 -120 54.0 48.0 A5 Al 24 N-1 vQ -50 49.0 53.0
Ad A7 24 O+1 +9 -140 40.0 62.0 F6 F8 24 N-1 *T -50 49.0 53.0
B4 B15 34 O= vA -140 40.0 62.0 A13 A3 24 N-1 *A -50 49.0 53.0
F4 F7 34 V= 49 -140 40.0 62.0 C13 C3 24 N-1 v7 -50 49.0 53.0
A6 A8 24 V +1 v7 -140 40.0 62.0 B17 B1l 24 N-1 +A -50 49.0 53.0
B9 B5 24 O +1 vA -140 40.0 62.0 C20 C7 24 N-1 vQ -50 49.0 53.0
G9 G11 24 O+1 +6 -140 40.0 62.0| D106 D118 24 N-1 *A -50 49.0 53.0
A13 A3 34 V= +3 -140 40.0 62.0 G15 G2 44 N-2 +A -100 37.0 65.0
C13 C3 24 O+1 LN -140 40.0 62.0| D104 D115 34 N-2 3 -100 37.0 65.0
G13 G3 24 V+1 v7 -140 40.0 62.0| D112 D107 34 N-2 %3 -100 37.0 65.0
C14 C8 34 O= +6 -140 40.0 62.0| D116 D108 34 N-2 +A -100 37.0 65.0
D106 D118 34 O= +9 -140 40.0 62.0 E4 E8 3v V= *J) -140 27.0 75.0
D116 D108 34 V= *A -140 40.0 62.0 F11 F12 3v V= *2 -140 27.0 75.0
D117 D111 24 O+1 +5 -140 40.0 62.0 G13 G3 2v V+1 46 -140 27.0 75.0
C1l C5 2v V+2 +3 -170 24.0 78.0 C15 C2 2v V+1 *J) -140 27.0 75.0
B14 B10 24 V +2 v7 -170 24.0 78.0| D113 D103 3v V= a4 -140 27.0 75.0
D114 D110 34 O+1 vA -170 24.0 78.0| D117 D111 3v V= +J -140 27.0 75.0
A5 Al 3v S-2 4 A -200 20.0 82.0 F4 F7 44 N-3 vQ -150 19.0 83.0
A2 A9 3NS-3 4 A -300 18.0 84.0 B13 B3 34 N-3 *A -150 19.0 83.0
G1 G5 3NV= +3 -400 14.0 88.0 A2 A9 3v V+1 ) -170 12.0 90.0
B12 B7 3NV= +8 -400 14.0 88.0 A6 A8 3v V+1 *J -170 12.0 90.0
B16 B8 3NV= +3 -400 14.0 88.0 E6 E5 3v V+1 a5 -170 12.0 90.0
B2 Bl 44 O= vA -420 6.0 96.0 All Al2 3v V+1 42 -170 12.0 90.0
E4 E8 44 O= 45 -420 6.0 96.0 B12 B7 3v V+1 &K -170 12.0 90.0
F5 Fl1 4a V= *A -420 6.0 96.0 C4 C19 3v V+2 *9 -200 5.0 97.0
C15 C2 44 O= *J) -420 6.0 96.0 B14 B10 3v V+2 *J) -200 5.0 97.0
D109 D105 44 V= v7 -420 6.0 96.0| D109 D105 44DN-3 vQ -500 2.0 100.0
G6 G17 3¢DN-3 vQ -800 0.0 102.0 G10 G16 4v V= *J -620 0.0 102.0
G4 - 49.9 G4 - 49.9
- E2 435 - E2 43.5
- A10 56.9 - A10 56.9
D102 - 39.3 D102 - 39.3
7 « 87 Béasta kontrakt 8 49 Basta kontrakt
Syd v EDKn72 3v S =140 Vést v EKn752 4¢ N =130
Alla ¢+ D10976 Ingen ¢ E1093
»2 & ¢ v & NT %954 & ¢ v & NT
+Knl1062 4KD4 N7 7977 4 K52 4 D8643 N 4 107 5 6
v 653 v98 S77977 vD v K10864 S 4 107 56
¢ Kn32 + EK84 O6 6 366 ¢ DKn *7 083575
*E75 +D1083 V66366 #EKD10732 #Kn6 V83575
4+ E953 4 EKn107
v K104 v93
¢5 ¢ K86542
#KKn964 *8
Par Kontr ut Res Poang Par Kontr ut Res Poang
D116 D109 34DV -3 vA 800 102.0 0.0| D115 D105 6ND O -5 4 A 1100 102.0 0.0
B10 B6 4v N= *K 620 96.0 6.0 Cc7 Cl17 64DV -4 49 800 100.0 2.0
B15 B5 4v N= v8 620 96.0 6.0 A3 Al0 44DO-3 8 500 95.0 7.0
C19 C5 4v N= *A 620 96.0 6.0 E4 E8 54DV -3 49 500 95.0 7.0
D103 D102 4v N= *A 620 96.0 6.0 G15 G3 54DV -3 *A 500 95.0 7.0
D110 D106 4v N= *A 620 96.0 6.0 G16 G11 44DO-3 v9 500 95.0 7.0
F3 F10 34 O-3 +5 300 90.0 12.0 F6 F2 44 O-6 8 300 89.0 13.0
Al13 A4 34 V-2 *2 200 88.0 14.0 B17 B12 54DV -2 49 300 89.0 13.0
C2 C6 3v N+1 +K 170 83.0 19.0 B1 B8 3NV-4 vA 200 84.0 18.0
Al12 Al 2v N +2 *A 170 83.0 19.0 F12 Fl1 44 O-4 8 200 84.0 18.0
C13 C4 3v N+1 ¢ A 170 83.0 19.0 C19 C5 3NV-4 +9 200 84.0 18.0
D113 D104 3v S+1 a) 170 83.0 19.0 Al2 Al 24 O-3 v9 150 78.0 24.0
B14 B1l 2NN +1 ¢A 150 77.0 25.0 G14 G9 3¢ N+2 *J) 150 78.0 24.0
D107 D118 2NN+1 4Q 150 77.0 25.0 C15 C3 3¢ S+2 *A 150 78.0 24.0
A3 Al10 3v N= *A 140 68.0 34.0 G2 G6 3¢ S+1 *A 130 74.0 28.0
B3 B2 2v N+1 *A 140 68.0 34.0 Gl G18 44 O-2 8 100 59.0 43.0
A5 A8 3v N= *K 140 68.0 34.0 B3 B2 44 O-2 *2 100 59.0 43.0
B13 B4 3y N= +A 140 68.0 34.0 F3 F10 4%V -2 *A 100 59.0 43.0
F13 F4 2v N +1 *A 140 68.0 34.0 A5 A8 44 O-2 v9 100 59.0 43.0
B16 B9 2v N+1 ¢ A 140 68.0 34.0 A6 A2 5#& V-2 48 100 59.0 43.0
D114 D111 2v N+1 v9 140 68.0 34.0 A7 A9 5& V-2 *A 100 59.0 43.0
B1 B8 2v N= *A 110 54.0 48.0 C8 C20 44 O-2 8 100 59.0 43.0
Gl G18 2v N= *A 110 54.0 48.0 B10 B6 44 O-2 v9 100 59.0 43.0
E4 E8 2y N= +K 110 54.0 48.0 Ci3 C4 4%V -2 49 100 59.0 43.0
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F5 F8 2v N= +K 110 54.0 48.0 G13 G4 34 O-2 v9 100 59.0 43.0
C8 C20 2v N= ¢ A 110 54.0 48.0 B14 B1l 3# V-2 49 100 59.0 43.0
C15 C3 2¢v N= *A 110 54.0 48.0| D113 D104 34 V-2 49 100 59.0 43.0
B17 B12 1a4 S+1 *A 110 54.0 48.0| D114 D111 5# V-2 49 100 59.0 43.0
D117 D112 INN= oK 90 46.0 56.0| D116 D109 5# V-2 *A 100 59.0 43.0
C1l Cl8 1la V= v2 -80 44.0 58.0 El E3 4& V-1 49 50 40.0 62.0
G7 Gl17 INO= *6 -90 42.0 60.0 F7 F9 4aV-1 ¢ A 50 40.0 62.0
El E3 4v N-1 ¢ A -100 28.0 74.0 G8 G20 44 O-1 v9 50 40.0 62.0
G2 G6 3v N-1 *A -100 28.0 74.0| D103 D102 4% V-1 49 50 40.0 62.0
E6 E5 2N N-1 ¢+4 -100 28.0 740| D117 D112 3 V-1 49 50 40.0 62.0
F6 F2 3v N-1 +K -100 28.0 74.0 B15 B5 5¢ S-1 *A -50 34.0 68.0
C7 Cl7 4v N-1 ¢ A -100 28.0 74.0| D107 D118 24 V= 49 -90 32.0 70.0
C10 Cl12 4v N-1 ¢ A -100 28.0 74.0 Al13 A4 5¢DS-1 *A -100 29.0 73.0
G10 G12 3NS-1 ] -100 28.0 74.0 B16 B9 5¢DS-1 vQ -100 29.0 73.0
F12 F1 2v N-1 ¢+ K -100 28.0 74.0 Cc2 C6 3&V-= 49 -110 18.0 84.0
Cil4 C9 2v N-1 oK -100 28.0 74.0 F5 F8 34 0= vl] -110 18.0 84.0
F14 F11 2¢v N-1 ¢ A -100 28.0 74.0 C10 Cl2 3# 0= vA -110 18.0 84.0
G14 G9 4v N-1 *A -100 28.0 74.0 G10 G12 3 V= 49 -110 18.0 84.0
C16 Cll 2v N-1 ¢ A -100 28.0 74.0 B13 B4 3&V-= 49 -110 18.0 84.0
G16 G11 2v N-1 oK -100 28.0 74.0 F13 F4 3% V= v5 -110 18.0 84.0
A6 A2 INO +1 »6 -120 14.0 88.0 F14 F11 2& V +1 49 -110 18.0 84.0
A7 A9 3NS-2 2 -200 7.0 95.0 C16 Cll 34 V= 49 -110 18.0 84.0
F7 F9 3NS-2 a2 -200 7.0 95.0| D110 D106 3# V= 49 -110 18.0 84.0
G8 G20 4v N-2 v9 -200 7.0 95.0 C1l Cl18 44 V= +9 -130 5.0 97.0
G13 G4 3NS-2 v3 -200 7.0 95.0 E6 E5 3&V+1 49 -130 5.0 97.0
G15 G3 4v N-2 ¢ A -200 7.0 95.0 B7 B18 3# O +1 *A -130 5.0 97.0
D115 D105 4v N-2 *A -200 7.0 95.0 G7 G17 3#V +1 +3 -130 5.0 97.0
B7 B18 4v N-3 oK -300 0.0 1020 C14 C9 3NO= v3 -400 0.0 1020
- E2 435 - E2 435
- All 45.9 - All 45.9
- G5 58.9 - G5 58.9
- D108 63.3 - D108 63.3
9 485 Basta kontrakt 10 a4 Basta kontrakt
Nord vD753 3¢ O =-110 Ost v Kn962 4ANT O =-630
ov ¢+E Alla ¢ DKn652
#K98643 & ¢ v & NT *752 & ¢ v & NT
4 KKn93 4102 N8 4667 4 EK9762 43 N14433
vEKn62 vK84 S84677 v 1053 vKD4 S14433
4765 + DKn9832 049765 +K + E874 O 118 9 1010
*ED 102 V4976F¢6 #D96 #EKKn84 vV 118 9 1010
4 ED764 4 DKn1085
v 109 v E87
+ K104 41093
#Kn75 2103
Par Kontr Ut Res Poéng Par Kontr Ut Res Poéng
B4 B3 2NV -4 a5 400 101.0 1.0 F7 F3 44DV-1 *4 200 100.0 2.0
B14 B12 2N O -4 ] 400 101.0 1.0 B10 B16 44DV -1 +Q 200 100.0 2.0
A4 All 24 O-3 vT 300 94.0 8.0 C13 C5 6# 0O-2 &T 200 100.0 2.0
G14 G10 3NV-3 *6 300 94.0 8.0 G3 G7 44 V-1 v2 100 92.0 10.0
C15 C4 INV-3 *6 300 94.0 8.0 A7 A3 5& O -1 4Q 100 92.0 10.0
C16 C12 3NV-3 *4 300 94.0 8.0 G14 G10 54 O-1 &T 100 92.0 10.0
D113 D105 3NV-3 *4 300 94.0 8.0 G15 G4 44 V-1 +J 100 92.0 10.0
G1l1 Gl 3¢ O-2 vT 200 85.0 17.0| D115 D106 44 V-1 +Q 100 92.0 10.0
C14 C10 2NV -2 *3 200 85.0 17.0 F6 F9 24 V= *7 -110 86.0 16.0
D102 D109 3¢ O-2 a A 200 85.0 17.0 F13 F5 34 O +1 *T -130 83.0 19.0
D115 D106 3¢ O-2 vT 200 85.0 17.0 G17 G8 2# O +2 +Q -130 83.0 19.0
A8 Al10 3# N +1 +Q 130 78.0 24.0 B14 B12 34 V= +Q -140 80.0 22.0
G16 G12 34 N+1 v4 130 78.0 24.0 G1l1 Gl 3# O +2 4Q -150 78.0 24.0
G17 G8 2# N +2 +Q 130 78.0 24.0 B17 Bl 3v O+1 4Q -170 76.0 26.0
F13 F5 INN+1 +3 120 74.0 28.0 B15 B6 1INV +3 Ly -180 74.0 28.0
Al13 A5 2& N +1 *2 110 72.0 30.0 El E6 3NO= aT -600 69.0 33.0
Al A2 INV-1 *6 100 64.0 38.0 B2 B9 3NO= v7 -600 69.0 33.0
El E6 INV-1 »6 100 64.0 38.0 B4 B3 3NO= a5 -600 69.0 33.0
E2 E4 2v V-1 ¢ A 100 64.0 38.0 G16 G12 3NO= 4Q -600 69.0 33.0
F6 F9 4¢ V-1 a5 100 64.0 38.0 F1 F2 3NO +1 48 -630 39.0 63.0
G13 G5 INV-1 *6 100 64.0 38.0 C2 C18 3N O +1 4Q -630 39.0 63.0
D111 D107 INV-1 *6 100 64.0 38.0 G2 G18 3N O +1 v8 -630 39.0 63.0
D114 D112 3v V-1 ¢ A 100 64.0 38.0 C3 C7 3NO+1 +Q -630 39.0 63.0
Cc2 C18 2# N= 2 90 56.0 46.0 Ad All 3NO+1 *T -630 39.0 63.0
C6 Cl19 24 S-1 *7 -50 53.0 49.0 F4 F11 3N O +1 4Q -630 39.0 63.0
B10 B16 3# N-1 +Q -50 53.0 49.0 A6 A9 3N O +1 4Q -630 39.0 63.0
A6 A9 INV= 48 -90 48.0 54.0 C6 C19 3NO +1 2Q -630 39.0 63.0
F7 F3 INV= 3 -90 48.0 54.0 A8 Al10 3NO+1 v8 -630 39.0 63.0
B13 B5 INV= *4 -90 48.0 54.0 E8 E5 3NV +1 LY -630 39.0 63.0
F4 F11 24 S-2 2 -100 42.0 60.0 F8 F10 3N O +1 v7 -630 39.0 63.0
C17 C8 24 S-2 *A -100 42.0 60.0 Cl1 Cl 3NO+1 4Q -630 39.0 63.0
G20 G9 34 N-2 v6 -100 42.0 60.0 F12 F14 3N O +1 4Q -630 39.0 63.0
G3 G7 2¢ O+1 *T -110 33.0 69.0 Al13 A5 3N O +1 2Q -630 39.0 63.0
A7 A3 2v V= 48 -110 33.0 69.0 B13 B5 3N O +1 4Q -630 39.0 63.0
B15 B6 3¢ O= vT -110 33.0 69.0 G13 G5 3NV +1 a4 -630 39.0 63.0
B17 Bl 24 V= ¢A -110 33.0 69.0 C14 C10 3NO +1 2Q -630 39.0 63.0
B18 B8 3¢ O= a4 -110 33.0 69.0 C15 C4 3NO+1 4Q -630 39.0 63.0
C20 C9 3¢ O= ] -110 33.0 69.0 C16 Cl12 3NO +1 4Q -630 39.0 63.0
B2 B9 INV+1 *3 -120 23.0 79.0 B18 B8 3N O +1 v7 -630 39.0 63.0
B11 B7 2NV = ¢ A -120 23.0 79.0 G20 G9 3NO +1 4Q -630 39.0 63.0
D104 D103 2NV = *6 -120 23.0 79.0| D104 D103 3NV +1 +Q -630 39.0 63.0
D110 D116 2NV = 438 -120 23.0 79.0| D110 D116 3NV +1 +Q -630 39.0 63.0
G2 G18 3¢ O+1 vT -130 17.0 85.0| D113 D105 3NV +1 +5 -630 39.0 63.0
F8 F10 2¢ O +2 a4 -130 17.0 85.0| D114 D112 3NO+1 4Q -630 39.0 63.0
F12 F14 2v V +1 ¢ A -140 14.0 88.0| D118 D108 3NO +1 v7 -630 39.0 63.0
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C3 C7 1INV +2 &3 -150 11.0 91.0 B11 B7 3N QO +2 vA -660 8.0 94.0
D118 D108 2NV +1 &9 -150 11.0 91.0 C17 C8 3N O +2 *T -660 8.0 94.0
E8 E5 2NV +2 48 -180 7.0 95.0 C20 C9 3NO+2 rye) -660 8.0 94.0
G15 G4 1INV +3 &9 -180 7.0 95.0 D102 D109 3N O +2 v7 -660 8.0 94.0
c11 Cl INO+4 46 -210 4.0 98.0 D111 D107 3N O +2 «Q -660 8.0 94.0
C13 C5 2¢DO+1 &5 -380 2.0 100.0 E2 E4 3NV +3 *2 -690 2.0 100.0
F1 F2 3NV +1 &3 -630 0.0 102.0 Al A2 6% O = vA -1370 0.0 102.0
G6 - 53.8 G6 - 53.8
- E3 59.9 - E3 59.9
Al12 - 56.0 Al12 - 56.0
D117 - 53.6 D117 - 53.6
11 410943 Basta kontrakt 12 & Kn97 Basta kontrakt
Syd v 862 3v V =-140 Vast v Kn9 ANT V =-430
Ingen ¢+ Kn764 NS + KD932
&84 & ¢ v & NT &753 & ¢ v & NT
~ E86 & K7 N3 4373 & K6 4 E543 N53 343
v 97 v KKn1043 S34373 v EKD6 v 1032 S53343
*32 + K10985 09 8 96 8 ¢ Kn8765 ¢ E104 O 8 10109 10
#EKD1075 #Kn V 989 6 8 &DKn #K106 vV 7 10109 10
& DKn52 4 D1082
v ED5 v 8754
¢+ ED .-
#9632 »E9842
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
B15 B7 3«DV-2 a3 300 102.0 0.0 F13 F6 5¢ V-2 vlJ 100 101.0 1.0
F9 F11 48 V-2 49 100 100.0 2.0 G18 G3 4¢ O-2 vJ 100 101.0 1.0
E1l E6 3& V-1 *J 50 79.0 23.0 F5 F12 4¢ V-1 a7 50 94.0 8.0
A2 A3 3NO-1 a2 50 79.0 23.0 F9 F11 3NV -1 *3 50 94.0 8.0
E2 E4 4v O-1 a2 50 79.0 23.0 Al13 A6 3v V-1 aJ 50 94.0 8.0
B5 B4 3& V-1 aT 50 79.0 23.0 B14 Bl 3NV-1 *2 50 94.0 8.0
F7 F10 3# V-1 *4 50 79.0 23.0 B18 B9 4v V-1 49 50 94.0 8.0
A8 A4 3&V-1 49 50 79.0 23.0 B2 B17 2¢ V= v9 -90 88.0 14.0
E8 E5 3NV-1 aT 50 79.0 23.0 F2 F3 2¢ V+1 vJ -110 82.0 20.0
A9 All 3& V-1 aT 50 79.0 23.0 A8 A4 3¢ V= &5 -110 82.0 20.0
B12 B8 3NV-1 aT 50 79.0 23.0 C16 Cl 3¢ V= &7 -110 82.0 20.0
C13 C6 3#V-1 +6 50 79.0 23.0 G17 G9 2v V= &3 -110 82.0 20.0
F13 F6 3& V-1 aT 50 79.0 23.0 D105 D104 3¢ V= &5 -110 82.0 20.0
G13 G6 3NV-1 aT 50 79.0 23.0 Cl14 Cll 2NO= &2 -120 76.0 26.0
Cl4 Cll 3NO-1 a2 50 79.0 23.0 C4 C8 2N O +1 &8 -150 72.0 30.0
C16 Cl 3NV-1 aT 50 79.0 23.0 F7 F10 2NV +1 *2 -150 72.0 30.0
G17 G9 3&V-1 aT 50 79.0 23.0 C13 C6 2N O +1 &4 -150 72.0 30.0
G18 G3 3& V-1 aT 50 79.0 23.0 G14 G11 1INV +4 vJ -210 68.0 34.0
D103 D110 3NV-1 *4 50 79.0 23.0 A2 A3 3NO= &4 -400 60.0 42.0
D112 D108 3# V-1 +6 50 79.0 23.0 A9 All 3NO= &2 -400 60.0 42.0
D113 D106 3NV -1 43 50 79.0 23.0 G12 G2 3NV= *+K -400 60.0 42.0
D116 D111 3« V-1 a4 50 79.0 23.0 B16 B11 3NV= *2 -400 60.0 42.0
B14 Bl 24 S-1 A -50 58.0 44.0 Cc18 C3 3NV= &3 -400 60.0 42.0
D105 D104 24V = aT -90 56.0 46.0 D112 D108 3N O = &2 -400 60.0 42.0
B2 B17 2¢ O+1 &9 -110 47.0 55.0 D116 D111 3NO= &2 -400 60.0 42.0
F2 F3 24V +1 +6 -110 47.0 55.0 E1l E6 3NO+1 &4 -430 40.0 62.0
C4 C8 34 V= v8 -110 47.0 55.0 E2 E4 3N O +1 &2 -430 40.0 62.0
C12 C2 3&V= aT -110 47.0 55.0 A5 Al2 3NO+1 &4 -430 40.0 62.0
G14 Gll 3& V= aT -110 47.0 55.0 B5 B4 3NO+1 &4 -430 40.0 62.0
C15 C5 3&V= 49 -110 47.0 55.0 E8 E5 3N O +1 A -430 40.0 62.0
C19 C7 3&V= aT -110 47.0 55.0 G10 G20 3N O +1 &2 -430 40.0 62.0
D115 D107 3# V= +6 -110 47.0 55.0 B13 B6 3N O +1 &2 -430 40.0 62.0
B3 B10 2& V +2 *4 -130 35.0 67.0 G13 G6 3NO +1 &4 -430 40.0 62.0
G10 G20 3&V+1 *4 -130 35.0 67.0 Cc17 C9 3NV +1 +9 -430 40.0 62.0
D102 D117 2# O +2 *A -130 35.0 67.0 D102 D117 3N O +1 A -430 40.0 62.0
D118 D109 44V = 49 -130 35.0 67.0 D113 D106 3NV +1 &7 -430 40.0 62.0
F1 F14 3v O= *A -140 29.0 73.0 D115 D107 3N O +1 v5 -430 40.0 62.0
B13 B6 2v O +1 a5 -140 29.0 73.0 D118 D109 3N O +1 &9 -430 40.0 62.0
G15 G5 INS-3 SA -150 25.0 77.0 F1 F14 3N O +2 +Q -460 14.0 88.0
Cc18 C3 INS-3 &A -150 25.0 77.0 B3 B10 3NV +2 *2 -460 14.0 88.0
G4 G8 2v O+3 a2 -200 20.0 82.0 G4 G8 3NO+2 &2 -460 14.0 88.0
A7 Al10 2v O +3 &3 -200 20.0 82.0 A7 A10 3NV +2 +9 -460 14.0 88.0
G16 Gl 2v O+3 4Q -200 20.0 82.0 C10 C20 3NV +2 *2 -460 14.0 88.0
A5 Al2 3NV = a3 -400 12.0 90.0 B12 B8 3N O +2 &8 -460 14.0 88.0
C10 C20 3NV= aT -400 12.0 90.0 C12 C2 3NO+2 &4 -460 14.0 88.0
G12 G2 3NV= aT -400 12.0 90.0 B15 B7 3NV +2 *2 -460 14.0 88.0
B16 B11 3NV= a3 -400 12.0 90.0 C15 C5 3NV +2 +3 -460 14.0 88.0
B18 B9 3NV= aT -400 12.0 90.0 G15 G5 3NV +2 +K -460 14.0 88.0
F5 F12 3NV +1 a3 -430 6.0 96.0 G16 Gl 3NO +2 a4 -460 14.0 88.0
F8 F4 4v O+1 a2 -450 4.0 98.0 Cc19 C7 3NO+2 &8 -460 14.0 88.0
Cc17 C9 3NV +2 aT -460 2.0 100.0 D103 D110 3NV +2 +9 -460 14.0 88.0
A13 A6 34DV +1 aT -570 0.0 102.0 F8 F4 3NV +3 +9 -490 0.0 102.0
Al - 43.5 Al - 43.5
- E3 59.9 - E3 59.9
- G7 34.1 - G7 34.1
D114 - 52.7 D114 - 52.7
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13 «E974 Basta kontrakt 14 « E1062 Basta kontrakt
Nord v EK94 64 N =1430 Ost v 98 34 S =140
Alla ¢ Kn632 Ingen + D10953
*8 & ¢ v & NT »62 & ¢ v & NT
485 « D103 N 1110111211 D87 493 N586 96
vD1032 v875 S 1110111211 v10763 vED4 S$586 96
+1098 ¢+ ED54 023212 ¢E87  #Kn42 085747
#Kn1064 #975 Vv23212 D108 #EK543 V746147
& KKn62 & KKn54
v Kn6 v KKn52
¢ K7 + K6
#EKD32 #Kn97
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
Al10 Al2 64DS= *T 1660 102.0 0.0 F9 F5 3v V-3 a2 150 101.0 1.0
G5 G9 64 S= v3 1430 96.0 6.0 B14 B2 34 0-3 46 150 101.0 1.0
F13 F7 64 S= *T 1430 96.0 6.0 B4 B11l 24 N+1 ¢ A 140 98.0 4.0
C14 Cl2 64 S= *T 1430 96.0 6.0 G5 G9 24 N= *A 110 92.0 10.0
G14 G1l2 64 S= T 1430 96.0 6.0 E6 E8 24 N= *K 110 92.0 10.0
D106 D105 64 S= *T 1430 96.0 6.0 F6 F1 24 N= *A 110 92.0 10.0
E2 E1l 3NS+3 v2 690 89.0 13.0 A8 All 24 N= *A 110 92.0 10.0
F10 F12 3NN +3 v5 690 89.0 13.0 B17 B3 24 S= *8 110 92.0 10.0
E3 E5 44 S+2 *T 680 75.0 27.0 C5 C9 3v V-2 +9 100 84.0 18.0
C5 C9 44 S+2 48 680 75.0 27.0 A9 A5 3v V-2 & A 100 84.0 18.0
B6 B5 44 S+2 a5 680 75.0 27.0 G16 G2 3v V-2 +9 100 84.0 18.0
F6 F1 44 N+2 *A 680 75.0 27.0 C14 Cl2 2¢ N= *A 90 80.0 22.0
Cc7 Cl13 44 S+2 *T 680 75.0 27.0 C1l C3 2v V-1 +3 50 72.0 30.0
A8 All 44 S+2 v3 680 75.0 27.0 E2 El 3v V-1 a2 50 72.0 30.0
Gi11 G20 44 S+2 *T 680 75.0 27.0 F14 F2 2v V-1 *6 50 72.0 30.0
G17 G10 44 S+2 *T 680 75.0 27.0 C15 C6 3#0-1 +K 50 72.0 30.0
G18 G4 44 S +2 v2 680 75.0 27.0 C16 C2 2v V-1 +3 50 72.0 30.0
D107 D113 44 S+2 v3 680 75.0 27.0 G18 G4 3#0-1 ¢+ K 50 72.0 30.0
D114 D102 44 S+2 *T 680 75.0 27.0| D104 D111 2v V-1 *T 50 72.0 30.0
D116 D112 44 S+2 *T 680 75.0 27.0 E3 E5 INN-1 +3 -50 58.0 44.0
B4 B11 3NN +2 *A 660 61.0 41.0 A6 Al INS-1 *8 -50 58.0 44.0
E6 E8 3NS+2 v3 660 61.0 41.0 F8 F11 34 S-1 *8 -50 58.0 44.0
B1 B9 44 S+1 *4 650 55.0 47.0 F10 F12 24 N-1 *A -50 58.0 44.0
C1l C3 44 N+1 *A 650 55.0 47.0 Al13 A7 2v S-1 *Q -50 58.0 44.0
B16 B12 44 N+1 ¢ A 650 55.0 47.0 B15 B8 34 S-1 &T -50 58.0 44.0
B18 B10 44 S+1 *T 650 55.0 47.0 B16 B12 24 S-1 *Q -50 58.0 44.0
A3 A4 3NN +1 *4 630 41.0 61.0 C8 Cl9 24 0= v2 -90 44.0 58.0
B7 B13 3N S +1 v3 630 41.0 61.0 F13 F7 24 0= a4 -90 44.0 58.0
Cl1 C20 3NN +1 +5 630 41.0 61.0 G14 G12 INV= +5 -90 44.0 58.0
B14 B2 3NN +1 *4 630 41.0 61.0 C18 C4 24 0= +6 -90 44.0 58.0
C15 C6 3NN +1 *4 630 41.0 61.0| D106 D105 INO= a4 -90 44.0 58.0
G16 G2 3NN+1 v8 630 41.0 61.0| D114 D102 1INV= +5 -90 44.0 58.0
B17 B3 3NN +1 *4 630 41.0 61.0| D115 D108 INO= *7 -90 44.0 58.0
C18 C4 3NN +1 *9 630 41.0 61.0 B6 B5 2v S-2 *8 -100 34.0 68.0
D104 D111 3NN+1 43 630 41.0 61.0 B7 B13 34 N-2 *A -100 34.0 68.0
D117 D103 3NN+1 +3 630 41.0 61.0 C17 Cl10 2vS-2 *Q -100 34.0 68.0
Cc8 C19 44 S= v2 620 30.0 72.0 Gl G3 24 O +1 v5 -110 29.0 73.0
Al13 A7 3NS= T 600 26.0 76.0 G17 G10 3#0O= +K -110 29.0 73.0
B15 B8 3NS= *T 600 26.0 76.0 A3 A4 INO +1 a4 -120 17.0 85.0
G15 G6 3NS= *T 600 26.0 76.0 F3 F4 1INV +1 *3 -120 17.0 85.0
F3 F4 24 S+3 a5 200 22.0 80.0 Cc7 C13 INO+1 a4 -120 17.0 85.0
Gl G3 14 S+3 v3 170 20.0 82.0 G7 G13 INO+1 v2 -120 17.0 85.0
D118 D110 2NS+1 48 150 18.0 84.0 Cl1 C20 2NO = +6 -120 17.0 85.0
F8 F11 3v N= 49 140 16.0 86.0 Gl1 G20 2N O = +K -120 17.0 85.0
C17 C10 INS+1 *4 120 14.0 88.0 B18 B10 INV +1 v9 -120 17.0 85.0
Ci6 C2 2#S+1 *T 110 12.0 90.0| D116 D112 2NO= v2 -120 17.0 85.0
A6 Al 64 S-1 *J -100 7.0 95.0| D117 D103 INO +1 v2 -120 17.0 85.0
G7 G13 64 S-1 *T -100 7.0 95.0( D118 D110 INO+1 v] -120 17.0 85.0
F9 F5 4NS-1 *4 -100 7.0 95.0 G15 G6 34 O +1 +6 -130 6.0 96.0
D115 D108 64 S-1 *J -100 7.0 95.0| D107 D113 INO+3 v5 -180 4.0 98.0
A9 A5 BN N -2 43 -200 20 100.0 Al0 Al2 3¢ N-4 *A -200 2.0 100.0
F14 F2 6NS-4 *T -400 0.0 1020 B1 B9 3NV= v8 -400 0.0 1020
- E4 49.1 - E4 49.1
G8 - 47.8 G8 - 47.8
- A2 54.9 - A2 54.9
- D109 45.8 - D109 45.8
15 4 K83 Basta kontrakt 16 «E10754 Basta kontrakt
Syd v 98 34 V =-140 Vast v K1085 34 ND-1-100
NS ¢ EKn53 ov ¢ 72
#D654 ¢ v & NT #109 & ¢ v & NT
4ED42 4Kn65 NS545 45 « Kn93 «KD N456 86
vEKNn75 vK6 S545 44 v4a v D9632 S 45686
+82 + KD1076 089798 ¢EK10 ¢ D654 098656
£932 #E108 V89798 #E85432 #D6 V98656
» 1097 & 862
vD10432 v EKn7
+94 + Kn983
*KKn7 *«KKn7
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
F13 F8 24 V-3 v9 150 102.0 0.0 A7 A2 3NO-5 +8 500 102.0 0.0
C17 Cl1l INN+1 *K 120 100.0 2.0 A4 A5 3N O -3 +3 300 93.0 9.0
C6 C10 4a V-2 v9 100 95.0 7.0 G6 G10 3NO-3 48 300 93.0 9.0
F10 F6 3N O -2 v3 100 95.0 7.0 F9 F12 3N O-3 a2 300 93.0 9.0
D114 D103 2¢ O-2 oT 100 95.0 7.0 F10 F6 3¢ O-3 a2 300 93.0 9.0
D117 D104 3NV-2 *4 100 95.0 7.0 G16 G3 3NO-3 +8 300 93.0 9.0
Cc2 C4 2¢ O-1 oT 50 73.0 29.0 Ci8 C5 3NV-3 a4 300 93.0 9.0
A4 A5 3NV-1 *6 50 73.0 29.0 G20 G12 2NV-3 a5 300 93.0 9.0
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B5 B12 2NO-1 *7 50 73.0 29.0| D107 D106 3NO-3 46 300 93.0 9.0
E6 E8 3NO-1 v3 50 73.0 29.0 G2 G4 3NO-2 8 200 78.0 24.0
G6 G10 3NV-1 *4 50 73.0 29.0 B5 B12 3NV -2 a4 200 78.0 24.0
A9 Al2 3NV-1 *4 50 73.0 29.0 E6 E8 3N O-2 +3 200 78.0 24.0
Al10 A6 2N O-1 a7 50 73.0 29.0 C9 C19 3NO-2 8 200 78.0 24.0
All Al 3NO-1 &7 50 73.0 29.0 G13 G8 3v O-2 46 200 78.0 24.0
B1l B18 3NO-1 v4 50 73.0 29.0 C20 C12 3NO-2 +3 200 78.0 24.0
F11 F1 24 V-1 v9 50 73.0 29.0| D102 D110 3NO-2 +3 200 78.0 24.0
C13 C8 3NO-1 T 50 73.0 29.0 F4 F5 24 N= *Q 110 68.0 34.0
B16 Bl 3NO-1 *J 50 73.0 29.0 F14 F3 24 N= +4 110 68.0 34.0
G16 G3 24 V-1 v9 50 73.0 29.0| D117 D104 24 N= *Q 110 68.0 34.0
G18 G5 2NO-1 oT 50 73.0 29.0 C1l Cl4 44 V-1 5 100 59.0 43.0
C20 Cl2 3¢ V-1 *5 50 73.0 29.0 Al10 A6 2¢ O-1 28 100 59.0 43.0
D105 D112 3NO-1 oT 50 73.0 29.0 F13 F8 1a V-1 *7 100 59.0 43.0
D107 D106 3NO-1 a7 50 73.0 29.0 B16 Bl INV-1 Ly 100 59.0 43.0
D108 D113 3NV-1 *4 50 73.0 29.0 G18 G5 2¢ O-1 46 100 59.0 43.0
F14 F3 INV= *5 -90 54.0 48.0| D114 D103 INV-1 a5 100 59.0 43.0
F4 F5 24 V= v9 -110 48.0 54.0 B15 B9 2NS-1 v4 -50 52.0 50.0
C9 Cl19 3¢ O= v9 -110 48.0 54.0 B11l B18 2# V= & A -90 49.0 53.0
B14 B3 24 V= v9 -110 48.0 54.0 G15 G7 2¢ O= vA -90 49.0 53.0
B15 B9 24 V= v8 -110 48.0 54.0 Gl Gl4 3« V= s A -110 38.0 64.0
D115 D109 14 V+1 v9 -110 48.0 54.0 Cc2 C4 2&V+1 *7 -110 38.0 64.0
Gl Gl4 INO+1 v2 -120 38.0 64.0 E3 E5 2¢ O+1 a2 -110 38.0 64.0
A7 A2 INO+1 v2 -120 38.0 64.0 C6 Cl10 3+ V= s A -110 38.0 64.0
G15 G7 2NO= v2 -120 38.0 64.0 B8 B13 3# V= *7 -110 38.0 64.0
C16 C3 INO+1 v4 -120 38.0 64.0 F11 F1 3¢ O= 48 -110 38.0 64.0
G17 Gll 2NO= oT -120 38.0 64.0 C13 C8 2#V+1 *7 -110 38.0 64.0
F7 F2 INO +2 v2 -150 30.0 72.0 C15 C7 3#V= *7 -110 38.0 64.0
C15 C7 INO+2 oT -150 30.0 72.0 B17 B4 3& V= *7 -110 38.0 64.0
G20 G12 2N O +1 aT -150 30.0 72.0 B2 B10 2N O = +3 -120 25.0 77.0
G2 G4 2N O +2 v3 -180 22.0 80.0 B7 B6 1INV +1 a4 -120 25.0 77.0
E3 E5 2N O +2 oT -180 22.0 80.0 F7 F2 INO +1 +9 -120 25.0 77.0
Al3 A8 1IN O +3 v4 -180 22.0 80.0| D111 D118 2NO= +3 -120 25.0 77.0
B17 B4 2N O +2 a7 -180 22.0 80.0 A9 Al2 3#V+1 *9 -130 17.0 85.0
D111 D118 INO+3 v3 -180 22.0 80.0 Al13 A8 3&V+1 *7 -130 17.0 85.0
F9 F12 24 V +3 v8 -200 16.0 86.0 C16 C3 2&V +2 v5 -130 17.0 85.0
C1l Cl4 3NV = +5 -400 13.0 89.0| D108 D113 3# V+1 *7 -130 17.0 85.0
G13 G8 3NO= v3 -400 13.0 89.0 B14 B3 1INV +2 Ly -150 10.0 92.0
B7 B6 3N O +1 v2 -430 8.0 94.0 G17 G11 2N O +1 +8 -150 10.0 92.0
B8 B13 3NV +1 3 -430 8.0 94.0| D105 D112 2NO +1 aT -150 10.0 92.0
C18 C5 3NV +1 *4 -430 8.0 94.0 E2 El 3NO= +3 -600 4.0 98.0
B2 B10 3N O +2 v3 -460 2.0 100.0 C17 Cll 3NO= v7 -600 4.0 98.0
E2 El 3NO+2 v2 -460 2.0 100.0( D115 D109 3NO= +3 -600 4.0 98.0
D102 D110 3N O +2 v3 -460 2.0 100.0 All Al 3NO+2 *7 -660 0.0 1020
- E4 49.1 - E4 49.1
G9 - 41.0 G9 - 41.0
- A3 59.2 - A3 59.2
D116 - 60.1 D116 - 60.1
17 497653 Basta kontrakt 18 4832 Basta kontrakt
Nord v EDKn ANT N =430 Ost v 1064 54 O =-450
Ingen 453 NS + K82
*ED4 & ¢ v & NT #EKD6 & ¢ v o NT
4K102 #EKn8 N 7 108 9 10 «ED1065 #KKn4 N35000
v 10542 v 986 S 6 108 8 10 v- v EKDKn832 S$35000
¢1064 97 06 3543 ¢ EKn103 ¢D O 108 111110
#753 #KKn986 V63543 #Kn984  #102 vV 108 111110
«D4 497
v K73 v 975
¢ EKDKn82 497654
*102 #753
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
G8 G15 6NN = 8 990 102.0 0.0 All A7 6NV -2 *A 100 102.0 0.0
E3 E2 3NN+3 *6 490 96.0 6.0 A5 A6 6y O-1 &7 50 99.0 3.0
F4 F14 3NN +3 *6 490 96.0 6.0 E8 El 5NV-1 *A 50 99.0 3.0
C8 C15 3NN +3 8 490 96.0 6.0 F5 F6 44 V= *K -420 95.0 7.0
B13 B9 3NN +3 *6 490 96.0 6.0 G8 G15 44 V= *A -420 95.0 7.0
D117 D105 3NN +3 8 490 96.0 6.0 G3 G5 3NV +1 *Q -430 85.0 17.0
B3 B11 3NN +2 & A 460 65.0 37.0 B8 B7 3NV +1 *A -430 85.0 17.0
B4 B14 3NN +2 *6 460 65.0 37.0 F13 F9 3NV +1 *K -430 85.0 17.0
E4 E6 3NN +2 *8 460 65.0 37.0 G16 G4 3NV +1 *A -430 85.0 17.0
A5 A6 3N N +2 8 460 65.0 37.0 C19 C10 3NV +1 *A -430 85.0 17.0
B6 Bl 3NN +2 *8 460 65.0 37.0 C20 Cl 3NV +1 *A -430 85.0 17.0
C7 C11 3NN+2 *8 460 65.0 37.0| D103 D111 3NV +1 *A -430 85.0 17.0
G7 G11 3NN +2 v9 460 65.0 37.0| D104 D114 3NV +1 *A -430 85.0 17.0
G9 G13 3NN +2 *6 460 65.0 37.0 E3 E2 4v O +1 *7 -450 67.0 35.0
Al10 Al 3NN +2 *8 460 65.0 37.0 B4 B14 5v O= &7 -450 67.0 35.0
F10 F1 3NN +2 *6 460 65.0 37.0 E4 E6 44 O +1 *A -450 67.0 35.0
All A7 3NN +2 *8 460 65.0 37.0 F10 Fl1 4y O +1 *7 -450 67.0 35.0
F11 F7 3NN +2 *6 460 65.0 37.0 B13 B9 4v O+1 &5 -450 67.0 35.0
Al2 A2 3NN +2 *5 460 65.0 37.0 B15 B10 44 V+1 *A -450 67.0 35.0
G14 G2 3N N+2 *8 460 65.0 37.0 B17 B5 4e V+1 *A -450 67.0 35.0
B15 B10 3NN +2 8 460 65.0 37.0 B18 B12 4y O +1 *4 -450 67.0 35.0
B16 B2 3NN +2 8 460 65.0 37.0 G20 Gl 4v O+1 3 -450 67.0 35.0
G16 G4 3NN +2 *8 460 65.0 37.0| D108 D107 4« V+1 *A -450 67.0 35.0
B17 B5 3NN +2 *6 460 65.0 37.0 B3 B1l 4y O +2 *4 -480 54.0 48.0
G18 G6 3NN +2 8 460 65.0 37.0 B6 Bl 4v O +2 49 -480 54.0 48.0
C19 C10 3NN +2 *6 460 65.0 37.0 Gl14 G2 4v O +2 49 -480 54.0 48.0
C20 Cl 3NN+2 *6 460 65.0 37.0 C3 C5 4v O +3 49 -510 29.0 73.0
G20 Gl 3NN +2 8 460 65.0 37.0 F4 F14 4y O +3 49 -510 29.0 73.0
D104 D114 3NN +2 *8 460 65.0 37.0 Cc7 Cll 4v O+3 *7 -510 29.0 73.0
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D108 D107 3NN +2 &6 460 65.0 37.0 G7 G1l1l 4v O+3 a9 -510 29.0 73.0
D115 D110 3NN +2 &6 460 65.0 37.0 Cc8 C15 4y O +3 *4 -510 29.0 73.0
D116 D102 3NN +2 &8 460 65.0 37.0 F8 F3 4y O +3 *4 -510 29.0 73.0
E8 E1 3NN+1 +9 430 34.0 68.0 C9 C13 4v O +3 +5 -510 29.0 73.0
F8 F3 3NS+1 T 430 34.0 68.0 A10 Al 4v O +3 +6 -510 29.0 73.0
C9 C13 3NN +1 v9 430 34.0 68.0 F12 F2 4y O +3 +9 -510 29.0 73.0
Al3 A9 3NS+1 v4 430 34.0 68.0 A13 A9 4v O +3 *7 -510 29.0 73.0
Cl4 C2 3NN+1 v8 430 34.0 68.0 C14 C2 4v O +3 7 -510 29.0 73.0
D113 D109 3NN= v9 400 28.0 74.0 B16 B2 4y O +3 +9 -510 29.0 73.0
B18 B12 INS+3 v5 180 26.0 76.0 C16 C4 4y O+3 +5 -510 29.0 73.0
B8 B7 3¢ S+2 &7 150 21.0 81.0 C17 Cl2 4y O +3 a9 -510 29.0 73.0
C18 C6 2¢ S+3 &7 150 21.0 81.0 G17 G12 4y O+3 49 -510 29.0 73.0
D103 D111 3¢ S+2 &7 150 21.0 81.0 C18 C6 4v O+3 a7 -510 29.0 73.0
D118 D112 3¢ S+2 &7 150 21.0 81.0 G18 G6 4v O +3 a9 -510 29.0 73.0
C3 C5 3¢ S+1 v4 130 12.0 90.0 D113 D109 4v O +3 *7 -510 29.0 73.0
G3 G5 2¢ S+2 v4 130 12.0 90.0 D115 D110 4v O +3 a9 -510 29.0 73.0
A8 A3 3¢ S+1 &3 130 12.0 90.0 D116 D102 4v O +3 v5 -510 29.0 73.0
C16 C4 3¢ S+1 *4 130 12.0 90.0 D117 D105 44 O +3 a5 -510 29.0 73.0
Cc17 Cl2 2¢ S+2 &3 130 12.0 90.0 D118 D112 4v O +3 +9 -510 29.0 73.0
F5 F6 44 N-1 7 -50 4.0 98.0 Al2 A2 6y O= &3 -980 6.0 96.0
F12 F2 44 N-1 .7 -50 4.0 98.0 A8 A3 6v O +1 *2 -1010 2.0 100.0
G17 G12 6NN-1 LX) -50 4.0 98.0 G9 G13 6v O +1 46 -1010 2.0 100.0
F13 F9 4v N-2 &6 -100 0.0 102.0 F11 F7 6v O+1 +9 -1010 2.0 100.0
Ad - 50.5 A4 - 50.5
- E5 56.3 - E5 56.3
- G10 44.0 - G10 44.0
D106 - 41.9 D106 - 41.9
19 « EK109 Basta kontrakt 20 4 E1042 Basta kontrakt
Syd v D42 24 S =110 Vast v EKn653 5# N =600
ov + K10 Alla 495
£10832 & ¢ v & NT 32 & ¢ v & NT
& 752 « D84 N8 6 887 4 KKn865 «D9 N 118 9 8 9
v 973 v E105 S 86887 vD2 v 109874 S 118 9 8 9
¢ 8743 ¢ DKn65 O56 555 + D64 + Kn1073 024453
&#EKKn %965 V56555 #K86 &D4 V24453
& Kn63 a73
v KKn86 vK
¢ E92 + EK82
&D74 #EKn10975
Par Kontr ut Res Poang Par Kontr ut Res Poang
B5 B14 3NS= & 400 100.0 2.0 A9 A4 3N S +2 vQ 660 102.0 0.0
B7 B2 3NN= »J 400 100.0 2.0 B7 B2 3NS+1 48 630 97.0 5.0
Cc19 Cll 3NS= &A 400 100.0 2.0 C19 Cl1l1 3NN+1 &Q 630 97.0 5.0
C5 Cl6 1v S+3 &A 170 96.0 6.0 Cc20 C2 3NN+1 vT 630 97.0 5.0
G4 G6 INN+2 a4 150 91.0 11.0 D113 D110 3NN +1 *J 630 97.0 5.0
G8 G12 INS+2 &A 150 91.0 11.0 B11 B15 3NS= 49 600 92.0 10.0
G18 G7 2NS+1 &K 150 91.0 11.0 D116 D103 2N S +2 46 180 90.0 12.0
D107 D102 2N S +1 A 150 91.0 11.0 E3 E2 3% S+3 a5 170 87.0 15.0
E8 El 2v S+1 &K 140 81.0 21.0 A6 A7 3% S+3 vQ 170 87.0 15.0
A9 A4 2v S+1 &A 140 81.0 21.0 F1 F3 3& S+2 vQ 150 65.0 37.0
F9 F4 2v S+1 &A 140 81.0 21.0 C3 Cl4 2% S +3 48 150 65.0 37.0
F12 F8 2v S+1 & 140 81.0 21.0 B4 B12 3% S +2 &6 150 65.0 37.0
B17 B6 2v S+1 &K 140 81.0 21.0 C4 C6 34 S+2 *4 150 65.0 37.0
C17 Cl 24 N+1 v5 140 81.0 21.0 E4 E6 3% S +2 +4 150 65.0 37.0
E3 E2 2N S= +8 120 70.0 32.0 B5 B14 3% S +2 *4 150 65.0 37.0
C4 C6 INS+1 &A 120 70.0 32.0 C5 Cl6 24 S +3 46 150 65.0 37.0
G5 G1l6 2N S= &A 120 70.0 32.0 G5 G16 3# N +2 +5 150 65.0 37.0
D104 D112 INS+1 &A 120 70.0 32.0 E8 E1l 3% S+2 *4 150 65.0 37.0
D113 D110 INS+1 &A 120 70.0 32.0 B9 B8 34 S+2 vQ 150 65.0 37.0
F1 F3 1a N+1 +5 110 59.0 43.0 Al2 A8 3% S +2 46 150 65.0 37.0
A6 A7 2v S= &K 110 59.0 43.0 C13 Cl0 3% S+2 46 150 65.0 37.0
B9 B8 2v S= a7 110 59.0 43.0 C15 C9 3& S+2 vQ 150 65.0 37.0
Fl11 F2 2v S= &K 110 59.0 43.0 G15 G9 3& S +2 v2 150 65.0 37.0
B16 B3 24 N= +5 110 59.0 43.0 B17 B6 3% S +2 *4 150 65.0 37.0
D111 D115 2v S= &A 110 59.0 43.0 G20 G2 3& S +2 a5 150 65.0 37.0
C3 Cl4 INS= &K 90 49.0 53.0 D105 D114 3# S +2 a5 150 65.0 37.0
E4 E6 INS= +3 90 49.0 53.0 D107 D102 3% S +2 vQ 150 65.0 37.0
D105 D114 INS= &A 90 49.0 53.0 D111 D115 34 S+2 vQ 150 65.0 37.0
D116 D103 INS= +3 90 49.0 53.0 D117 D106 2# S +3 a5 150 65.0 37.0
F13 F10 Pass 44.0 58.0 G18 G7 3v N= 7 140 44.0 58.0
Al A3 INS-1 +3 -50 28.0 74.0 Al A3 34 S+1 *4 130 35.0 67.0
G3 Gl4 2v S-1 &A -50 28.0 74.0 G3 Gl4 3# S +1 +4 130 35.0 67.0
B4 B12 2N S-1 7 -50 28.0 74.0 G4 G6 3& S +1 *4 130 35.0 67.0
F5 F14 2#& N-1 +Q -50 28.0 74.0 F6 F7 3& S+1 vQ 130 35.0 67.0
F6 F7 2NS-1 +8 -50 28.0 74.0 All A2 3% S+1 vQ 130 35.0 67.0
C8 Cl2 24 N-1 +Q -50 28.0 74.0 G17 Gl 3&#S+1 +3 130 35.0 67.0
All A2 2v S-1 a7 -50 28.0 74.0 C18 C7 24 S+2 vQ 130 35.0 67.0
B11 B15 34 N-1 +5 -50 28.0 74.0 D109 D108 3# S +1 vQ 130 35.0 67.0
C13 C10 2NS-1 +8 -50 28.0 74.0 B18 Bl 2NS= a5 120 26.0 76.0
C15 C9 34 N-1 +6 -50 28.0 74.0 C8 Cl2 3« S= *4 110 19.0 83.0
G15 G9 INS-1 +3 -50 28.0 74.0 F9 F4 3& S = +4 110 19.0 83.0
G17 Gl 2NN-1 &A -50 28.0 74.0 F11 F2 3& S= +6 110 19.0 83.0
B18 Bl 34 N-1 ¢J -50 28.0 74.0 B16 B3 3% S= a5 110 19.0 83.0
G20 G2 2NN-1 7 -50 28.0 74.0 C17 Cl 3#S= vQ 110 19.0 83.0
D117 D106 2N S-1 +8 -50 28.0 74.0 D104 D112 34 S= *4 110 19.0 83.0
Al2 A8 2N S -2 &K -100 6.0 96.0 F5 F14 14 V-1 +5 100 11.0 91.0
Al3 A10 3NS-2 &A -100 6.0 96.0 G13 G10 24 V-1 &3 100 11.0 91.0
B13 B10 3N S-2 &K -100 6.0 96.0 G8 G12 2v N-1 &Q -100 5.0 97.0
G13 G10 3NS-2 &A -100 6.0 96.0 F12 F8 3¢ S-1 a5 -100 5.0 97.0
C18 C7 44 N-2 +Q -100 6.0 96.0 Al3 A10 3NS-1 4 Q -100 5.0 97.0
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Cc20 C2 44 N-2 &6 -100 6.0 96.0 F13 F10 3NS-1 LY:] -100 5.0 97.0
D109 D108 3v S-2 SA -100 6.0 96.0 B13 B10 3NN -2 & Q -200 0.0 102.0
A5 - 44.0 A5 - 44.0
- E5 56.3 - E5 56.3
- G1l1 54.4 - G1l1 54.4
D118 - 45.7 D118 - 45.7
21 «D8 Basta kontrakt 22 « E104 Basta kontrakt
Nord v D983 5¢ O =-400 Ost v Kn82 6y O =-1430
NS + D108 ov +32
#8753 & ¢ v & NT #Kn10984 & ¢ v & NT
&4 KKn43 «10 N3 2 454 4 KKn72 453 N6 2142
v EKn v 7542 S32554 v EK1053 vD764 S6 2142
¢ EKn75 ¢ K962 O 10118 8 8 + K98 + ED107 O 6 11128 10
&#KD6 #E1092 V 10118 8 8 &»E D76 V 6 11128 10
« E97652 « D986
v K106 v9
+43 ¢ Kn654
&#Kn4 K532
Par Kontr Res Poang Par Kontr Res Poang
Al3 All 3NO-2 100 101.8 0.2 D114 D106 44 V-4 400 102.0 0.0
E2 E8 3NV-1 50 96.1 5.9 Cc2 Cl17 3NV -2 200 100.0 2.0
E4 E3 3NV-1 50 96.1 5.9 G20 G3 4v V-1 100 97.0 5.0
B14 B6 3NV-1 50 96.1 5.9 D108 D103 6v O-1 100 97.0 5.0
B17 B7 3NV-1 50 96.1 5.9 F13 F11 2y V+2 -170 94.0 8.0
D118 D102 1INV = -90 90.3 11.7 F12 F3 2v V+3 -200 92.0 10.0
Cc2 Cl7 2NV = &Q -120 84.5 17.5 B5 Bl 4v V= -620 85.0 17.0
B10 B9 2NV= 4Q -120 84.5 175 B8 B3 4v V= »J -620 85.0 17.0
B18 B2 1INV +1 v9 -120 84.5 17.5 G10 G15 4v V= & -620 85.0 17.0
G20 G3 2NV= &Q -120 84.5 17.5 B13 B1ll 4v V= +3 -620 85.0 17.0
F1 F9 3¢ V+1 LX) -130 76.4 25.6 C20 C3 4v V= »J -620 85.0 17.0
F2 F4 2¢ V +2 v3 -130 76.4 25.6 D116 D104 4v V= & -620 85.0 17.0
F13 F11 2¢ O +2 aA -130 76.4 25.6 C14 C4 3NO+1 46 -630 78.0 24.0
A2 A4 3¢ O+2 »J -150 66.0 36.0 Al A9 4v V +1 &J -650 60.0 42.0
C5 C7 2NV +1 v3 -150 66.0 36.0 E2 E8 4v V +1 a4 -650 60.0 42.0
F7 F8 2NV +1 4Q -150 66.0 36.0 F2 F4 4v V +1 +2 -650 60.0 42.0
C9 Cl 2NV +1 4Q -150 66.0 36.0 E4 E3 4v O +1 48 -650 60.0 42.0
G10 G15 2NV +1 v3 -150 66.0 36.0 G5 G7 4v O+1 *3 -650 60.0 42.0
B16 B4 1INV +2 v3 -150 66.0 36.0 c9 Cl 4v V+1 »J -650 60.0 42.0
G5 G7 2N O +2 4Q -180 53.3 48.7 G9 Gl 4v V+1 +3 -650 60.0 42.0
B8 B3 2NV +2 4Q -180 53.3 48.7 Al10 A5 4v V +1 &J -650 60.0 42.0
Cl4 C4 1INV +3 v9 -180 53.3 48.7 C10 C15 4v V+1 +3 -650 60.0 42.0
C16 C6 2NV +2 8 -180 53.3 48.7 C11 C13 5v O= &2 -650 60.0 42.0
G16 G6 2NV +2 4Q -180 53.3 48.7 B12 B15 4v O +1 v9 -650 60.0 42.0
Cc20 C3 24 S-2 vA -200 46.4 55.6 B14 B6 4v V+1 +3 -650 60.0 42.0
F10 F5 24 S-3 vA -300 44.1 57.9 F14 F6 5v V= &J -650 60.0 42.0
Al A9 3NV= v3 -400 36.0 66.0 B16 B4 4v V +1 &4 -650 60.0 42.0
B5 Bl 3NV= &Q -400 36.0 66.0 B17 B7 4v V+1 +3 -650 60.0 42.0
G9 Gl 3NV= v4 -400 36.0 66.0 C18 C8 4v V+1 »J -650 60.0 42.0
Cc10 Cl15 3NV= &5 -400 36.0 66.0 G18 G8 4v O +1 &J -650 60.0 42.0
B12 B15 3NV = v8 -400 36.0 66.0 F7 F8 3N O +2 &4 -660 42.0 60.0
B13 B11 3NV= a2 -400 36.0 66.0 F1 F9 4v V +2 +3 -680 23.0 79.0
A7 A8 3NV +1 4Q -430 21.0 81.0 A2 A4 4v V +2 &J -680 23.0 79.0
Al0 A5 3NV +1 &Q -430 21.0 81.0 C5 C7 5v V+1 »J -680 23.0 79.0
G11 G13 3NV +1 »8 -430 21.0 81.0 A7 A8 4v V +2 EN) -680 23.0 79.0
G14 G4 3NV +1 4Q -430 21.0 81.0 B10 B9 4v V +2 aA -680 23.0 79.0
C18 C8 3NO+1 v6 -430 21.0 81.0 F10 F5 4v V +2 »J -680 23.0 79.0
G18 G8 3NV +1 4Q -430 21.0 81.0 G11 G13 5v O +1 *4 -680 23.0 79.0
Cc19 Cl2 3NV +1 4Q -430 21.0 81.0 Al2 A3 4v V +2 &J -680 23.0 79.0
G2 G17 3NV +2 &Q -460 7.1 94.9 Al3 All 4y V +2 »J -680 23.0 79.0
E5 E1 3NV +2 rye) -460 7.1 94.9 G14 G4 4v V +2 +3 -680 23.0 79.0
Cl1 C13 3NV +2 4Q -460 7.1 94.9 C16 C6 4v V +2 &J -680 23.0 79.0
F12 F3 3NV +2 v3 -460 7.1 94.9 G16 G6 4y O+2 &3 -680 23.0 79.0
Fl14 F6 3NV +2 4Q -460 7.1 94.9 B18 B2 4v V +2 *3 -680 23.0 79.0
Al2 A3 24D S-2 vA -500 0.2 101.8 Cc19 Cl2 4v V+2 *3 -680 23.0 79.0
D108 D103 3N S +2 &Q 660>a 95.6 6.4 D110 D109 4v V +2 +3 -680 23.0 79.0
D110 D109 3N S +1 4Q 630>a 73.3 28.7 D113 D111 4v V +2 »J -680 23.0 79.0
D117 D107 3N S +1 v8 630>a 73.3 28.7 D117 D107 4v V +2 &J -680 23.0 79.0
D116 D104 3NS= v8 600>a 51.0 51.0 D118 D102 4v V +2 s A -680 23.0 79.0
D112 D115 1IN S +3 4Q 180>a 36.1 65.9 E5 E1 3N O +3 46 -690 3.0 99.0
D114 D106 44 N = s A 130>a 21.3 80.7 D112 D115 3N O +3 +5 -690 3.0 99.0
D113 D111 3NS-1 v3 -100>a 6.4 95.6 G2 G1l7 6v V= a A -1430 0.0 102.0
- E6 51.0 - E6 51.0
- A6 42.3 - A6 42.3
- G12 45.2 - G12 45.2
D105 - 48.9 D105 - 48.9
23 & E972 Basta kontrakt 24 « K109 Basta kontrakt
Syd v Kn52 64 S =1430 Vast v EK109 2%V =-90
Alla ¢ E73 Ingen + KKn1085
#KKn9 & ¢ v & NT &6 & ¢ v & NT
a3 « D654 N8 8 111111 & DKn6 4 E432 N5 7 6 6 6
v 643 v 1097 S 8 8 111211 v Kn6 v D753 S57 6 6 6
+D109652 +8 045212 ¢ E32 + D4 O766 77
&E83 &D10762 V45212 &#Knl10432 #»E97 V86777
« KKn108 875
v EKD8 v 842
¢+ KKn4 + 976
&54 &#KD85
Par Kontr Res Poang Par Kontr Res Poang
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3N S +3
3N S +3
44 N +2
3N S +2
3N S +2
3N S +2
3N S +2
3N S +2
3N S +2
3N S +2
3N S +2
3NN +2
3N S +2
3N S +2
3N S +2
3N S +2
3N S +2
3N S +2
3N S +2
54 N=
46 S +1
4e N +1
4e N +1
46 S +1
5e S=
4e N +1
3N S +1
3NS+1
3NN +1
3N S +1
3NS+1
3NS+1
3N S +1

w
=z

ZOhzuunmnzznzzunzzzuuznw
+
i

DO WPARWWWW
ZZz2Z2eZ2222
NP R PRP R

+6 690
+9 690
+8 680
+5 660
*7 660
oT 660
+6 660
+6 660
+6 660
oT 660
*2 660
a5 660
+6 660
+Q 660
02 660
oT 660
oT 660
*3 660
+5 660
+8 650
*A 650
+8 650
+Q 650
*A 650
*A 650
+8 650
+5 630
*2 630
a2 630
+5 630
oT 630
+6 630
+6 630
+6 630
a3 620
+8 620
a3 620
+8 620
+8 620
+8 620
+5 620
+8 620
+8 600
oT 600
a7 600
vT 600
*A -100
+6 -100
*A -100
+8 -100
*A -100
+8 -200

101.0
101.0
98.0
81.0
81.0
81.0
81.0
81.0
81.0
81.0
81.0
81.0
81.0
81.0
81.0
81.0
81.0
81.0
81.0
58.0
58.0
58.0
58.0
58.0

=

coommouid
coooooooo

54.3

©OOOOEEEONNNNNNNNCICICUIUGIGUURRRRRRRANNNNNNNNNNNNNNNN
QOO NNNNOTATNTNTNNTNOOOOOOOOMMMAMAMNRIRRRRRRRPRRRPRPRERRREREARE
[e¥o¥oYofofofofofofotofofofofofofofofofofotofofofofofofofofofofofofofofofofofofofofofo Yo Yoo Yo Yo Yo R o o)

48 V -3
38 V-3
2N S +1
1¢ N +2
2v N =

2y N =

2¢ N+1
3¢ N=

34 O -2
24DV -1
INV -2
INV -2
1¢ N+1
2¢ N=

1¢ N+1
1¢ N+1
1¢ N+1
1¢ N+1
1¢ N+1
1¢ N+1
1¢ N+1
INS=

1¢ N=

1¢ N=

28 V-1
38 V-1
INV-1
INV-1
2NV -1
38 V-1
2NV -1
24 V-1
24 O-1
28 V-1
INV -1
38 V-1
2y N-1
2y N-1
2v N-1
3y N-1
2¢ N-1
2v N-1
2y N-1
3¢ N-1
28 V=

INV =

28 V=

3¢ N-2
24 V=

INV +1
INV +1
3¢ N-3

100.0
100.0
100.0
92.0
92.0
92.0
92.0
92.0
83.0
83.0
83.0
83.0
69.0
69.0
69.0
69.0
69.0
69.0
69.0
69.0
69.0
69.0
57.0
57.0

54.3

OCOOOWOOONNNNNNNNOOAUUOAUAOAUQIUAJARAROLWWWWWWWWWWHRERPRRPRRERRPERERE
OO OODVOVOVOVOVOVOVOVOVOVOVOVOVVWOVOVOWOVOVWOVUTIUIWWWWWWWWWWOWOVWOWWOWOOOOONNN
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